95%C1 Loop-specific

Loop IF ({truncated) Hetemgene\(y(f)

01-05-09 *> 201 (0.36,3.66) 0.000
07-09-10 + 164 (0.00,3.80) 0.000
01-09-10 + 145 (0.00,3.48) 0.000
01-06-11-14 1.39 (0.00,3.43) 0.000
01-07-10 4+ 122 (0.00,3.25) 0.000
01-07-09 —— 0.60 (0.00,2.34) 0380
01-07-11 ———————— 027 (0.00,1.89) 0.000
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*** Loop(s) [01-06-08] [02-06-14] [04-11-14] are formed only by multi-arm trial(s) - Consistent by definition

Supplementary Fig. 2. Loop inconsistency. This plot evaluates the inconsistency of the
network using a design-by-treatment interaction model in multi-arm trials. Dot and black line
indicate the mean and 95% confidence interval of loop inconsistency. When 95% confidence
interval includes “0”, the assumption of consistency is satisfied. However, 95% confidence

interval does not include “0”, the assumption of consistency is satisfied.



